091 0'8s 0‘6 0Z6E1 0°1¥01 yy6rSI8 0¥1¥€Z8 9Y98¥C 0°TITST
9l 86 6 0'€8 I'Ev8€E €'69€S 0'z6El 0°l¥oL v'v6v¥SG18 0'vIvEC8 9'v98¥C 0°Clese
og 6 74 ZC 9z (74 174 {4 174 104 oz 61 81 V41 9r
£ 5 T |3k Jdgmidmn
,\,E £ nbmhmnynm Jdgmumwn | tuhquubmunbo Qmhnynmy
EE— _E nmhmIdm Qmhnynmy Bmunmth nmiel . S & - &
B g hmamhmdmp D qmiel Bynlruhy 2 wlmhmydmh 2 E £ £ = 5 £
= = o= wulmbmydm - = = 5 = z = 2 =
= g E pump U-hnNuL E £ =2 e < = i o
= & =4 = 24 e = = = E
5% - =] = = . pe=r = o=
= 3 & 5 = = = o =
= =] =} ro =] 23 = ro =
_muhel tim Bydu Bydu
i) (nd) dhmg (nd) dnqdnhmp (nmdl -bmyy) (nmdl -bmy) (nmdis -bmyy)
] Jdemdmu Juynmiulehunyd-dnnd nmpm gmhbmidpm | dqpmufehuduhmundmm | dggmuichuduhmundmb | (Imundbmm nmhmtyn)
Ihmymdmhe gfmhmBud nddn Jdyqlrrnmnlen 5 " o }m;“‘q N d dh‘:l‘ p h . o ‘m‘é b q‘é i ( o h “
qmhBmdpm nmichumdyhmpbmy, | nymichubdyhmpbmy, | hbmend dngpmimg | hbmelnd ¢u dyypmimg nhdunhm nug




